Q 0.8— : : : : : : : ] 0.6
9 C H H H H H H H H O 6 ]
2 0.7k 3 0.5
2 F 0.55 '
T 0.6 ]
- 05F 0.45 3
0.4 0.4
L é 0.3 3
02 : E a4
i_ 0.25 . 4
i 3 i
A 023 ¢
:I 1 i 1111 l 1111 :I II:IIII:IIII:IIII:IIII:I : "
O J..\.O N Y Y Y Y N N . /1 T rIryrrrrryrrrryrrrrrrrryrrrryrrrrrrrr
s PRl e, 1 2 3 4 5 6 1
o - : | —=— DQM_original_stepZ_titbar-phasel-newgeom
L.t .. ]—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
1 : : | —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
- : | —— DQM_pixelCPETemplateCutChiSquare5Test_step?2_ttbar-phasel-newgeom
0.0c 00 IO ¢ [

1 2 3 4 5 6 7 8
Efficiency vs. cut on dz(PV)
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